
 

AMURI 
Ready: 

43 + 56 =  
62 + 12 =  
99 + 99 =  
12 + 88 =  
50 + 63 =  
26 + 84 =  
36 + 100 =  
123 + 96 =  
56 + 21 =  
93 + 7 =  

 Steady:  
563 + 965 =  
413 + 267 =  
234 + 1006 =  
163 + 326 =  
234 + 567 =  
413 + 298 =  
345 + 678 =  
2001 + 2001 =  
316 + 132 =  
103 + 107 =  

Go:  
1009 + 9999 =  
2364 + 1326 = 
1361 + 1999 =  
9821 + 1289 =  
9631 + 1479 =  
1234 + 5656 =  
1356 + 1493 =  
9341 + 7659 =  
9124 + 1234 =  
1236 + 9874 =  

 
FELIX 
Ready:  

-15+20 =  

Steady: 
  12 

+24  

     46  
 

Go: 
Use these numbers to complete 
 1, 6, 3, 2, 4: 

    

+  

    4  

 

 

ALFIE 
Steady: 
 

 
Go: 
 

 
 

NOAH 
 

 
 
JOSH 
 

 

Here are some of the questions sent in by Year 4. If you’d like to, have a go. Answers tomorrow! 
 


